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OgxelZHNESegHMI2=a 4,300
OgxelZHESHIN P RF=A 12,900
OgXeldussyeszy 9.600
OgxelZHUELRFA 19,000
303 Z& 3 28,000 28,000 0
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el N A=23} 16, 158,500 9,026,000 7,132,500
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ANHELAelSEEEHXA 480,000 470,000 10,000
308 MHXIEHSOIH 480,000 470,000 10,000




DA A A SN ERe
e B ME Y
CEANCIRERAELSE

AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
10 B2 SUHUSHEAEAE AL Y| 480,000 470,000 10,000
OESLTCESEHE X 480,000
NS YAl s3] o1E 144,000 60,000 84,000
308 XHXIGHH SO0l & 144,000 60,000 84,000
01 IXHHIMNEXS 64,000 60,000 4,000
O3=gatsratd xiel et &3l 64,000
10 21 2SUHUSHEAEAE A Y| 80,000 0 80,000
[J2020CH &8t 21 =2 Xie| o A I 80,000
NEAAXNENASH 120,000 120,000 0
308 XX G S0l & 120,000 120,000 0
01 AIXSHHEMNEX= 120,000 120,000 0
OXEAdgHadE=HA 120,000
NS - MHUASHUXCES ALY 12,821,250 8,029,000 4,792,250
J| 10,257,000
& 2,564,250
307 QI2t0| & 11,300,000 8,029,000 3,271,000
J| 9,040,000
& 2,260,000
02 AI2tAMAIE E =X 11,300,000 8,029,000 3,271,000
OXNgGMdr=add X EHSA ALY 11,300,000
J| 9,040,000
= 2,260,000
403 XX SHHS K201 & 1,521,250 0 1,521,250
J| 1,217,000
= 304,250
01 XIS AS2E X 1,521,250 0 1,521,250
OXGGsadd e HES A ALE 1,521,250
J| 1,217,000
&< 304,250
FAXNAHEHE LA 288,000 288,000 0
308 XHXIEH SO0l & 288,000 288,000 0
01 AIKISHHEBEMNEXZ 288,000 288,000 0
OFGANFLEHELTALS 288,000
HUEAROISE XA 695,250 0 695,250
= 310,600
= 384,650
308 MXISHMSOIA 695,250 0 695,250
= 310,600
= 384,650
01 XHHIMNEEXTZ 695,250 0 695,250
OFEARSE XA 695,250
= 310,600




A2 ARABH A SN gXEERH
Mz AN AMEHLE (MIEXN/ES)
Sl ATRAXNALRESS CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
| = 367650
AX2IHEANAH(IN2AT)EX X 60,000 0 60,000
308 AXIEHMSOIA 60,000 0 60,000
01 AIXSHMENEXZ 60,000 0 60,000
OLXCIBEAAH (I 2ATF)E XX 60,000
AE450H=EL AT 2 ME 1,500,000 0 1,500,000
308 XHXIEHSOIA 1,500,000 0 1,500,000
10 2| 2SS0 USHE A EAE AT Y| 1,500,000 0 1,500,000
OHF=40508 2L 122 M E 1,500,000
HEUAT IR SN (M EX/2S) 29,165,263 21,857,790 7,307,473
= 5,728,452
= 23,436,811
HEHM)| 2 UX & 10,030,483 6,591,500 3,438,983
= 1,387,483
== 8,643,000
HEAHMF=RE MG 775,000 749,000 26,000
201 et 9| 760,000 740,000 20,000
01 AP 22| H| 760,000 740,000 20,000
Ogsrs=2y| 755,000
OFHHMENIIEBNEROUS 30,000
OFEHL XIS HSG=ELNA I B H =&
= 725,000
o294+ 5,000
OFEZHAAI2Y 5,000
202 044 15,000 9,000 6,000
01 2L Y| 15,000 9,000 6,000
OFEdXeIgR2FN 15,000
SAI|YOTE ARA 1,500,000 1,000,000 500,000
308 AHXIEHMSOIA 1,500,000 1,000,000 500,000
01 AIXSHMENEXZ 1,500,000 1,000,000 500,000
OZAJICIEHAIRM (= EN) 1,500,000
DEFHUES|IUACI2I AL 783,000 0 783,000
= 450,000
& 333,000
308 XX G SOl A 783,000 0 783,000
= 450,000
& 333,000
10 212 SUHUSHEAXEAE AT Y| 783,000 0 783,000
ONEHUSIYAICIE AL 783,000
= 450,000
o=} 333,000




M ox
40 5 4

ol
. =2
C
- o

3

i
x
ne
=
(a8

NEIEDPNE-FX =
HAT 2 HEX R (MBI =X/ S)
EEESIEEO

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
AYgASBHEZ M0G0 200,000 300,000 A 100,000
308 AHAIEHHSOIA 200,000 300,000 100,000
1037/ 2S0HUHeSBHEAEALS I 200,000 300,000 A 100,000
OXgAEHEEMOLIHO0I 200,000
HFUEUZZZAAE S A 400,000 240,000 160,000
308 XX EHH SOl 400,000 240,000 160,000
01 HIXNHHNBNEES 400,000 240,000 160,000
OFEZ22HALEHS M 400,000
SAEGANSTAN 2,022,483 2,112,500 A 90,017
= 937,483
) 1,085,000
308 XXM SOIA 2,022,483 2,112,500 A 90,017
= 937,483
) 1,085,000
01 AXHHIYEES 2,022,483 2,112,500 A 90,017
OEANEGEA=IARN 2,022,483
= 937,483
& 1,085,000
SEANEEHA=M AN AE X H 500,000 500,000 0
308 MXIEHSOIH 500,000 500,000 0
1037/ 2S0HUHeSIHHAEALS I 500,000 500,000 0
OFEEFRNJLAH2LE 500,000
NGSEAMUT /NI EIZME 1,300,000 1,300,000 0
308 XX EHSOIA 1,300,000 1,300,000 0
01 HXNHHNBMNELS 1,300,000 1,300,000 0
OZ3=sgsddiielzz 0 1,300,000
FUAHEFECESAY 120,000 0 120,000
308 XXM SO A 120,000 0 120,000
10 S/ 2 SO0CHetE & X 2 E AL I 120,000 0 120,000
DA FAHCESAEY 120,000
FUdErdI2RE 2,000,000 0 2,000,000
308 MtXIEHSOIH 1,000,000 0 1,000,000
01 AXHHILEES 1,000,000 0 1,000,000
OEH=ERLIZME 1,000,000
403 Ut SHHSA=0l& 1,000,000 0 1,000,000
01 X SHHMA2E X 1,000,000 0 1,000,000
OZHESwE2O22RE 1,000,000
SEANEEXNENM DAY 430,000 0 430,000
308 XXM SO A 430,000 0 430,000




)
Rl
RO
)
R0

oll

= A

A
=

el Mate

ol
=2

1=X/=S)

(A+3]

2
o

=X
al
=

o o o o o o o o [ep) o o o o o o o o o o o o o ™ (ep] ™
o o o o o o o o o o o o o o (o)) [o)] — o — — —
< el < Cl<e|= ~ < C < < == N[N~ < DR B
U B 3|2 31818 NS 3|3 3 3|3 |3 RIS 3 DR
Ko < Sl ol el s © | - - |~ < Q| al N IR Y
= < 4| < <
E] <
E=]
o o o o o o o o o o o o o o o o o o o o o o o o o
o o o o o o o [e)] o o o o o o (@) (o)) (@) o o o o
(@] o o o o o o [aV] o o o o o o (V] [a\] [aV] o o o o
o |< |06 |s o lo|lo o | < |05 |0 s |o o N o ~ e
Y] o) o o o 9] — o o o o o o o — — —
UES < Bl=|R < |2 S |o = s 5 b |o|b
il ¢ T A . T
RS
o o o o o o o o o o o o N~ o o o o o o o o o o o o o o o o o o o o o o N~ N~ N~
o o o o o o o o o o o o [e ] o o o o o o o o o o o o o o o o o o o o o o [o0) [e 0] [o6)
S oS |S|S|e & || o |n|lS|a|e S S |28 S S S S|o[S|e S|[S|a|e S S 3 S |v|n|n
o o ) o) Ye) Ye) Y] Ye) o o o o ) < [Te] Y] o) Ye) ()] (o)) (o] o o o o o o o N~ N~ N~ o N~ o o < <t <
o ™ o o o o o [ep) — o ™ [e2) o [ [ o) Y] o) Y] (<o) (<] — o — Yo Yo} — — —
3l N q |l [N e | — — |~
<
=
ar
R
Bl 3l
= <
ol .rmw: o
< |s ujo 5 ﬁ ujo TR a )
I |30 ol 31 mT ol "o < = w3l
= |x @ s =z 0 S o =z 3 i W R o= -
. or o= I or o A Pwowr oz = = Omr o
= |F w o K F R = SR F M 3l TR OOk M|
= | A ®0 a1 7 Ul a1 e S o) T O RO M
o |2 o) G} Q0 0™ ol m gy ~ 0 |® ol | m o o2 & | K no
~ |R0 %0 = W | o R0 I o Kl 2 <+ RR| R I ) K = ™ ®o 3 $ Ki
oF % ar all RI=|® |0 & == | M m o W o | 5 Rl ||H s wall | |H
R o) - W U |3s|T R R D WS |0 g MTR|D DR |S | @ M T &F|[®|S |
. = m W ||z o |||z KIS |3 0 & [W|f @ 538 |W 5|3 R (@ W[ I M S & |= |l
Z o Juo ®o [ @ jon B | < W W [E|WD|w|[R[| T W EIREY O 0S| N |F|E|E RN WT|o|E|R
O R NI N 2 D < e I VI I A < T I O A P = I O AT = v B I {0 s Y 1 = I < T B 1
. S Wl |||kl O|R|R|~ ®|#|W|[3|oral O|R|RKR Ea ~ Wlo|z|rwW|w|R|R/AOWMFT ~A ”|o|R|R
= O O R | W | |[< O | = |A0 O3 [oo|ob|< O RIR OO A O|IR|V | O|W|RIRKROO MO|IR|RIR
H.H_A. =) Wl |z |z MN|s|e S e P © |3 o |z |z W|s |3 o RS
oo Uil st K| ™| > | 3r | ™ o | @
. m | R ®0 m | R &0 = i
1 0 )
A




)
Rl
RO
)
R0

oll

= A

A
=

el Mate

ol
=2

<

n0

Kio

Hl w

80,000
70,000

70,000

90,000
90,000
90,000

A 150,000
A 150,000

A700,000

A.100,000

100,000

A 40,000
A 40,000
A 40,000

6,145,193

11,000

20,000
20,000

H3r
Wikd
RIS

750,000
350,000

350,000

400,000
400,000

180,000

180,000
180,000
50,000
50,000
50,000

900,000

300,000
300,000

240,000
240,000
240,000

7,149,000

3,868,000

5,000
5,000

Off &t 24

514,587

670,000
420,000

90,000
90,000
90,000
90,000

420,000
420,000
250,000
250,000
250,000

180,000

180,000
180,000
180,000
50,000
50,000
50,000
50,000

200,000

200,000

200,000

200,000
200,000
200,000
200,000
200,000

13,294,193

i

4,340,969
8,953,224

H

3,879,000

25,000
25,000
25,000

5,000
20,000

1=X/=S)

5

(A

|

=

o

|
t

o
[

2|

Atel &l e Xl &

SO
ol-El

=

BE
EEED DL PNPIRY

307 21201 A

K1

ol

-,

<0
R0
~J

oJ

&
(=)
=

2|

=

S
=0

ord
ord

2l 3
2l 3

=
S
=

=)

3
=l
d
st

(=2

|
AbE

308 At A
01 XX

308 Xt

)

_O‘:J

IFHE X

2
=

(

%

mPN

iior
=
H
80
=
an
ol

4 )

=

=Y

(o]
=

2 A

[ud

(RAEX

N

=2
=

(5]
=

2 Ak

31 &0l

N

ord
=]
Ol &
L=

ol
=
=

=
=)
=
S

308 A+XIEHH
308 XtXIEHH
OX

o1

n0
oFJ

oD
KR
of
s}
ok
X0
o0
ol
Bl

307 glztol &

Ki
iy
3l

<0
R0
~J

ol

o

=

=)

308 A+XIEHH

b

o
=

<

il

R
K

J

ol
K0
)

R0

1
ol
0
il
D
K0

30
0K
oJ
oll

01 AtR 2t 2l |

oJ
ok
ujo
nE
x
ol
iio}
o)

ol
K0
)

R0

500,000

500,000

307 glztol &




A2 ARABH A SN gXEERH
H: FEANelBFEXN(MEX/S)
Hel FEEgligtxd (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
05 RIZtR & = 500,000 500,000 0
O=s=AFIZLNMEH2E 500,000
308 XtXIEHH SOl A 3,354,000 3,354,000 0
01 AXHHBILEES 804,000 1,164,000 A360,000
OAZEE0H &S X 654,000
OFE A0S Xtel 150,000
10 I 2 SOICHetE & & 2 E A I 2,550,000 2,190,000 360,000
OZ=s&d4dceonsts4d X3 1,300,000
OZEESNSE2MEXA 350,000
LJEYECEOS At XI & 200,000
Of*>HAdESHHIA 200,000
OFZEdgdBEHA 500,000
=JEN=3-Tp I =PNs-" 1,608,793 360, 000 1,248,793
2 694,093
< 914,700
308 XtXIEHH SOl A 1,608,793 360,000 1,248,793
= 694,093
< 914,700
01 X HHILEES 1,608,793 360,000 1,248,793
OdENSLel =2 A 1,608,793
= 694,093
= 914,700
Fgolmetis 150,000 150,000 0
308 A EHHSOIA 150,000 150,000 0
01 HXNHHNBMNELS 150,000 150,000 0
OZSZEI8E23 150,000
HEolg L Xl At 1,838,800 498,000 1,340,800
2 986,902
< 851,898
307 QI12+0 & 1,838,800 498,000 1,340,800
= 986,902
< 851,898
02 It M AMHEE 1,838,800 498,000 1,340,800
OFEIIEL Xl AL 1,838,800
= 986,902
< 851,898
IS LRelA 4,955,600 1,494,000 3,461,600
= 2,659,974
< 2,295,626
308 XtXIEHH SOl A 4,955,600 1,494,000 3,461,600
= 2,659,974
= 2,295,626
10 SII 2 SOICHEHE & & 2 &AL HI 4,955,600 1,494,000 3,461,600




)
Rl
RO
)
R0

oll

= A

A
=

el Mate

ol
=2

1=X/=S)

(A+3]

%

o o (] o o o o o o o o o — — — ()] (o)) o o o o o
o o o o o o o o o (@] (@] (@] ()] (o)) o o
S |3 |3 S |3 |S SHRESHES] N NN |N S S |3
A0 21313 @ | © |@© NERNEEN =S =N D= I BV 8|3
= 44|«
=)
o o o () o () o o o o o o (<] (<] (<o) (<o) (<] o o o o o
o o o o o o o o o [ep) [ep) [ep) (o) [ep) o o o o o
(@] o (@] o o o o o o o o o [e6] o o o <t [a\] N
clo|o oo | NN G |o ||~ |0 S |lo ~ o <
Yo Yo Yo ()} (@)} ()} [ep] [ep] [ep] D (o)} D [ N~ < < [qV] N
uilEd
RS
o T O o o o o o o o o o o o o o o o o N~ N~ N~ N~ N~ o o o o N~ N~ o o o o o o o o o
o N~ Al o o o o o o o o o o o o o o o o [ep] [ep] [ep] [ep] ™ (@) o o o (ep] ™ o o o o o o o o o
©C 2035 |3 |8 S| |a|e S|la|e|ea ||| @|N|IN|IN|w| B & & v o 9|88 o |¥ |0 o o & d
0 o wu o o o o ()] (o] ()] ()] o o o o o o o (ap) (o] (o] (o] (o)) [e)] <t o (@) < Y] [Ye] o o o N~ o © (<o) <t <
K0 U0 O Yo Yol Yo Yo} (@)} ()} (@)} D o o o o — — — — Al Al Al <t <t (V) — — [a\] [eV] o o o [a\] [a\] —
o O A ™ (ep] ™ [ep] [eV) [eV) [eV) (V] [a\] [aV] [a\] (V) [ep] [ep] [ep] — — — — — —
- > ©
ar <~ o
<
=)
mr
ar
bl
Bl
31 .
< - i
I+ —~ 3D 3| =
=z on < - < | =
— n s oy | @O —
— - % OH K Mv 3 = 5
= |a RT D M e o | & T w + a0
o = 0 oua m K | x| ® = | o + =] - -
- |= i) == KA oH E K{ R |z |35 |k Dl 20 o s o 0 = =
oF = TRy RIS U Hom K W|H B | ok oOF X o 5 K K
ol o M_ S |3 = S |2 S |a B EF|D | R (WA T oM R W Rl = o = ok
. | m_ o | g |W0 R0 B S B N TS| D 0 o0 K O K- R|3 |8 R T}
=z |~ M Rl L T R RIR R0 R DR R HS 8 |m < OF OF M = O T K| R |80 TF 3 >
O [ e O A i i el ISR I B - (s = [ O |/ o0 < 8 4 w0 aD S OF | K| = ROOOH B0
. ZIRIR Z|S|RIR R|F | |N K& |R|R 3| B OOO0OMO|D |3 & |0/ /A x g
- |O Eﬂzomgﬂﬂmgaamﬂoﬂﬂmm T |ol|x O O S| Ofa |~ O 0O o O
X wlgle |®lgls |[Rlgle |¥lg]s |[R[=|®|g]s SEERENE 3
o+ ﬁ_ ™ W ® = | @ = 80 | /| )| N ~ X
: o ®0 K 30 T T
i KO | ~
A b




)
Rl
RO
)
R0

oll

= A

£)(OIEH/DIE)

)

A
=

el Mate

ol
=2

X 15 & H D
2385

o (]

0

Kio

E

B
o o
8|8
S|

LH3r

Wikd

RIS
o o o o o
o o O o O
® |0 © @ F
[sN} Al N O O
Yol 0 — — o

al

Ed]

S

or

R

al

o)

=

o+

=z

=

o o <

— R =

ok w0

ol |3 |« R

. R |0 =

= w0 (a1 A

%0 |0 = R0 RO

. OF |& M v =

z |[F|x OO0

S RS

L)

A




>
A & 0l & AF 2 E A A
20208 = =0l &b 2 BHSI A A
AR ARABR YA SN DEIEY
M B S ERF (WS S/0EI =)
Sl HHMASLU S (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
WEI=EH MY 51,873,164 44,235,966 7,637,198
=2 7,204,781
s 171,000
< 44,497,383
e Eet R E (W) =/UE )| =t 42,492,104 38,183,440 4,308,664
= 7,204,781
< 35,287,323
SHMUEASHLXH 36,343,104 31,938,620 4,404,484
2 5,910,781
< 30,432,323
FRIHUSSLENIAERFE 15,000 18,000 A 3,000
201 et 15,000 18,000 A 3,000
01 At 22l 15,000 18,000 A 3,000
Opt=2Hl 15,000
OFXIMuUSESZINENRTRAUS 15,000
ATHAHA S H =2 6,600,000 7,480,000 A 880,000
201 Let24E] 200,000 200,000 0
01 At 22l 200,000 200,000 0
pt=ZHl 200,000
QAT S SEHHAQLE B E2]1000 200,000
307 glz2tol & 1,100,000 1,000,000 100,000
02 IZtE M AHE X 1,000,000 1,000,000 0
OB XNsHEHEH2Y 700,000
[J2020AHOI A AT IOl = HI O XI & A 300,000
04 DIZHHALALSE E X 100,000 0 100,000
OZ=8 A A Y (SCALE-UP) 2 H & A 2020 100,000
308 XXM SOIA 5,300,000 6,280,000 A 980,000
10 I 2SO CHetE & & 2 & A I 5,300,000 6,280,000 980,000
AR S S HA M IS IS ALY 1,000,000
O™ GEESIEZZIHAR2AAY 300,000
OXNGSEAMTHAL T ZNE 4,000,000
APWLRNLSHT A (BT ) 200,000 400,000 200,000
308 MtXIEHSOIH 200,000 400,000 A200,000
10 SII 2 SOICHEHE & X 2 & A I 200,000 400,000 200,000
OXNSI=HA PSS AIE X 200,000
DEIIEIIPN A4 QY EHROK AL (ZIHEFX 898,000 1,000,000 ~102,000
2)
308 XXM SOIA 898,000 1,000,000 A 102,000
10 I 2 SO0CHetE & X 2 E AL HI 898,000 1,000,000 A102,000
OANEMAMIIBASHIXNSEESHSHE 898,000




A
=

el Mate

ol
=2

ol
&l
<
N
lor
=
i on
(=4
ok
Al 0
o) 0o

(@) o o o o o o o o o o o o o o o o o o o o o
o o o o o o o
SHESHES Sle|S S
=+ Ye) o o o o o N~
n0 ol R=NE=] S | S |S o~
Kl T R e 4
(ep] [ep]
El
E=]
o o o o o o o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o o o o o
S|S|S S|s|S S|S|S S|S|S S S|e|s S|s|S S
1818 S| 3|3 81818 S8 1|8 S S8 1|8 S8 1|8 3
RS
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o
S |3 |e &3 |3 |2 S S S S S|le|e @ e |la|e a|la|e|e a|lala|e ala|a|e &S
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o N~
o o o o o) [Te) o) o o o) o o o o o o o o o o o o o o () o o o o o o o N~
3l — | ] — — ||l |l ||| »
<
(=
3r K -
ar | 0o g 3]
o |z rt Ho K B
) ﬁ 3J B + 0o
: M ] A w g 30 -
K <+ = <I 3 oK W |
Cull g 70 T a & ~ ==
< o T = o m <+ = = o gl M o
I+ » = il H 31 wr o 31 M = N =
= . < Ho ~ Ho < ) = - 3 > + i)
N il o F Hr I = O - 2 | ® ar & | K s | )
~ | F | R I = R0 VR B of | & ! | o)
= mm 7wl | KF = < 0 0 ﬂ = o M grow | L =< OH
o | g 20 W0 | A ol < Ko mﬁ 0 w | K 0 R | m s |o o m
= = R S | Al ~ = g T Kq = mjﬂ O M|z K= K o
F B || = |a 3 ) il =d $ ® | W Ul il M| & s/ |H s|r
ol | |T K= 5 Ak S w = | R Bl|® (S |[T Rt |S |0 T Ih|S |2 & |«
0 | |S || | 70 3r 0 = ) 80 | Ul Tl |U|= M [& |Uo|R wo |nmfuo|R0 T | Wl
Rl (= (U0 A0 |~ | v |8 0o = 00 oo <I (] T = | & Rl | & (U0 w i |®[E W|s || S |&
m & o ow e | = (w0 A L I =T Il ) T OO B I R S T B TR T B R B T T
. o | R |~ {83 |+t D 3 3 K1 0o t K [38 |8 0 O |8 |38 |8 k| |R|[~ A|M|R|[R o |8 |R |R S|4
= M | = |M O |80 |8 |8 O O O O = W[k O K{[® | O | R |0 0| |RIR O|F|RIR Ofm
o 60 Q|2 Ok 5|5 80 Q|5 K0 © |z Wl K |2 Al el ) Q|5 =~
of | ™ a N Ki | & | ™ o|® LlI|® < | ® or
i ®0 = ®0 0 <l ar =) Edl
A




- _ — d =
BE(BH) - MRAY - BES 0l &k o4 e HlnE2
200,000 200,000 0
200,000 200,000 0
EHIOIQUHBEHEZL XIS 200,000
308 XXM SOIA 177,000 304,000 A 127,000
01 AXHHBILEES 177,000 304,000 A 127,000
JIJ1EHAIF N & = Al & 3 X & 0K & 27,000
MOMCHI R Ol DA K| 2 150,000
&l DEMEZFI(ZNAEXE) 5,500,000 2,100,000 3,400,000
403 XSS =0l & 5,500,000 2,100,000 3,400,000
01 X SHMA2E X 5,500,000 2,100,000 3,400,000
HOICHME I DADET A 5,500,000
& EDNEE =R 4,800 28,620 A 23,820
&bl 4,800 4,800 0
AP R =Y 4,800 4,800 0
sl sge=d 4,800
EEPNE| 480,000 640,000 160,000
o 300,000 510,000 A210,000
SAMSEE 300,000 510,000 210,000
SE2RIMONL RIS XA 300,000
308 A EHSOIA 180,000 130,000 50,000
01 HXNHHBMNEELS 180,000 130,000 50,000
OXsEzRNS4SIH 80,000
D=sgE2REAAHIIB LA INLSEXEA
100,000
SHXNA (AP X ) 120,000 120,000 0
308 XXM SO0l A 120,000 120,000 0
01 IXNHHBNEES 120,000 120,000 0
HEYEREEXNFAY 120,000
JIEHELARIBR2EAMS (S HEEX 1,003,000 4,033,000 23,030,000
S| 200,000 200,000 0
MAMNEE X 200,000 200,000 0
HENSHEHZRHNLAE XS 200,000
403 MHXISHHE X201 E 803,000 3,833,000 23,030,000
01 XM A=2EE 803,000 3,833,000 23,030,000
UHNMZROEZHEAY 353,000
HEZRAESAEY 450,000
SHEESAML(SHATEILH) 850,000 900,000 A 50,000




A
=

el Mate

ol
=2

ol
&l
<
N
lor
=
i on
(=4
ok
Al 0
o) 0o

o o o o o (@] (@] (] o o o (] (] (@) o o o o o o o o o o o
o o o o o
< < < <
L._u o o (@) o o
n [Te) o) © (o] (o]
Klo < |« < « «
E|
E=]
o o o o o o o o o o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o o o o o o o o o o
o o o o o (@] (@] (@] o o o o (@] (&) o o o o o o o o (@] o (@]
S |lo S lo|o S lo|o S S |o s lo|o sl|lo o S loc|o S lo|o S S
o o Ye) [Ye] o) o o (] ™ ™ [ep] o o o (&>} ™ ™ o) [Ye] [Ye] o o o Lo Lo
WH3r | @ |@ | |- — | = |~ — || it IRt et NN N N~ N~
WikEd T “ “
Pdk=
o o o o o o o o o o o o o o o o o o o (e} o o o o o o o o o o o o o o O o o
o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o o O O o
S|e & S S|lg 2|2 S |S|a | o2 S |e S|a|a|@ S|a|e|eca|e|e a|e|e|e 2| a3|2
o o o o o o o o (@) o o o o o o o o o o o o o o o o o o o o o o o o o O O o
Y] o) o Al (ep] o) [Ye) o) Y] o (@] o o ™ [ep] [ep] ™ o (@] o o ™ ™ ™ [ep] o) Y] [Te) Y] o o o o — O W —
0 | N O — — —_ |- - — —_ |- - — —_ |- - — — |- = |« N | N N - N~ ™| -
3l — |- |- -~ 0 o | o
<
=3
i
o e ® b
o 0
X0 Bl = r
Bl RM o Pl ob
N E - ~
. 3 @l - o o0 w | K K|
ol z = * U il R|m il Hr 3D
< 0 R Al ﬂ_ - 3D K 0| w - <
I+ B0 #r = | % L = o KA | W & =) o
= aomow | X TR 2 = =Sl M| & = |a =
. ol o0 R i) mﬁ o | W o] o | B B | = W= 3l
— Moz k| L T | L R |z o | %0 o |~ oF | i = | ~
= ~ H = | OOl 3l | 3l = | K | % | - T IR or
i T S = | = o T | = W | m & | 5| & = | o o | @ 7!
= KI b i = | |5 |[K X |® Ki 0E | K = | o ol | T K|~ |k g KI o | ™ <)
ok HoHHW ™| W PR oo o oar | Oolek | ®O|H A | w W | o S| )
ol 3 5 3 00 |®o | | W |3 =T 3 R | W oM |S |20 || R (N |0 A D= =
. T HRMIS|W|IR &< < o |3 = o | ny W s u|m0 R |z [ |x 3| %0 =z 3| W ulo
= Rlj<0 @ A ~ X |[®|® <[0E|R [0 0|z g |20 m|aor NI B @RI IJ|IJ|R(QA|R =
%0 S |RXB OH|T|W|WW|E|S R S|\l [oy oo <4 || M| |3 |3 |3 |8 |z oy
. NN I K S| R|R R |[&5 |~ |~ EHR AN 8|l |le TIKI|rRIRM|imM|R|R A|w ™|~ T~ R
= oo OO0 O|lg x| Ol |2 |a) O ol o) Ol |[#f | O|8 | RIR Dl |R |k O |al|a O =4
r [5]8 A8 |s Wi |y oSy Mgz L= 5|35 S5y 5 8
> 0| < o ® A » H|® M| ® H | < T |® ] <
lﬁ 0 =] 8~ o} oJ = [=4 E
A




A= gl SN EI=EH
M B S ERF (WS S/0EI =)
Sl HHMASLU S (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 2,760,000
= 2,350,000
01 AXISHHA=2E = 5,110,000 3,750,000 1,360,000
OASHAUIILRNBANLHE 5,110,000
= 2,760,000
< 2,350,000
HAAZIDN RS AT S E A 180,000 150,000 30,000
308 XtXIEHHSOIA 180,000 150,000 30,000
01 AXHHILEES 180,000 150,000 30,000
OZ=2dNAS I MAHEE X 180,000
HEAHHESSAHI B S 4,503,000 0 4,503,000
= 3,000,000
< 1,503,000
403 UHXSHHSA=0l& 4,503,000 0 4,503,000
= 3,000,000
< 1,503,000
01 HIXHMA=E X 4,503,000 0 4,503,000
DA HEsSEMHI RS 4,503,000
= 3,000,000
= 1,503,000
AHO BN SHIAALLAG (FIATXE) 50,000 0 50,000
308 XXM SO0 A 50,000 0 50,000
01 HIXNHHBNEES 50,000 0 50,000
OuHoI SN sH2 A LdEA 50,000
HELE ALY RS 300,000 0 300,000
308 XtXIEHH SOl A 300,000 0 300,000
01 AXHHILEES 300,000 0 300,000
OXMO S EMATHONE X & A 200,000
OBEMSENHAEIMASII=HEXA 100,000
HABCHEESZENL (I AT RZ) 50,000 0 50,000
307 glz2+ol & 50,000 0 50,000
02 IZtE A AMHEE 50,000 0 50,000
OdABEHEZESENLXZ ALY 50,000
DIISEE0EsATHI =X ALY 30,000 0 30,000
308 XXIEHHSOIA 30,000 0 30,000
01 AXHHIYEES 30,000 0 30,000
ODJIsEEOEtsATHII= X & AHY 30,000
ZAHPNLEISLH(INEE ) 360,000 0 360,000
308 MXIEHSOIH 360,000 0 360,000
01 AXHHILEXS 360,000 0 360,000




A
=

el Mate

- ol

=2

o o o < < < (e} o o o o o o o o o o o o o
o o o o o o — o o o o o o o o o o
CLle = « «@ « Q|2 = CLl<e|= ele = <
n0 3|13 |3 w w W 222 m m m m m m 3
Ko <4< 212102
E|
E=)
o o o o o o o o o o o o o o o o o
— o o o o o o o o o o o o o o o
R A I Cl<e|= < e Ll = Cle =
N~ o o o — — — o o o o o o (e} (@) o
<t Al [eN} [aN} [aN} [aN} [aN] o o o [aV] Al [aV] Yol Yol Yol
WH3r L ER Fh ele e S = = A R NN
Pak=
o o o o o < — ™M <t — ™ < < — ™ o o o o o o o o o o () o o o o o o o o o o o o
o o o o o S o Al o O Al o o O Al o o (e} o o o o o o o o o o o o o o o o o o o o
Sl @M KMo O NBIe |9 Q@ Q|Q (|2 <2< Cle e(ele|(e @lele@ @ 2=
o o o o o Al O — Al O — Al Al O — o o o o o o o o (ap) o o o o o o o o o o o o o o
© © © © O < O O < WO O < < O O © 0] 0] 06} [e6] — — — — o o o o N [eV] N [eV] Lo o o Yo} O L0
zr o = == =
<
=
nr nr W
D
r R
0 = —
A I o
. -z =
)]
—_ an -
3l al % = o
< = = - 30 bl
IF @ 7 o o S ~ o
lr = e 3| R ar nr o =
x o K = |’ < = = )
= ol = - W | R = Rl S w
= |l |2 I =~ i RT I R
|3 3l mr Pl = oS
oy (¢} s N - ir T
— |ur | = KA M_ K 30 Ki W K Ki -z K+ £
oF | i H o H =3 H 7 H H 31 M T | =
o= =) [} = )| g D ar )| D = 3D T |
. s ulo < I+ o < = < D =< < 4] < | uo
= |3 = &l 2 3 T |® |2 M| R | <0 or 7 | %0 7l |0 R | & |2 =
OB b )| > TR o |3 |[Ro ~ |3 | R Ed S | ®o S | RO o | S |Ro )|
. 0 R | R hY AR T | AR oA | A 80 LY A A HEEEE =4
= |O == ol o O I |3 |a ol |al i al |3l ol |al n|a |o =
IA -
® |— N~ al 7/ I N )~ | oK~ |~ [ ~ oy Sl ~ |« o)
I+ o |o o o o | O o O —_ o O o O o | O o
™ @ 3| & ®» ol OF | @™ ®» H | & ™
N = =4 Ll
1




<

n0

Kio

Hl w

150,000
200,000
300,000
300,000

300,000
300,000
300,000

50,000
50,000
50,000

300,000
300,000
300,000
400,000
400,000
400,000
A 10,910

H3r
Wikd
RIS

50,000
50,000
50,000

500,000

2,396,910

Off &t 24

150,000
160,000
50,000
50,000
50,000
50,000
300,000
300,000
300,000

300,000
300,000
300,000
300,000
300,000

50,000
50,000
50,000
50,000

300,000
300,000
300,000
300,000
400,000
400,000
400,000
400,000
2,386,000

i

1,294,000
1,092,000

H

A
=

el Mate

=

- ol

o
[

2|

e

)

=Y
[nd

2|

e

& (RLRC) Xl
Al

|

=

24
(2oh=
= NE--

q

2|

=

(=]
ord

B X

(i)

dl

K

AA
| &t

& A

01 XX
=

!

307 21201 A

308 Xt

&D
o
Ho
s
Al
<
r

ol

0

o

=

S

308 AtXIEHH

ol

ol

El

- AR&DE

3J
el
I+
oD

d

I

R0

)

o
=

|

e

AN (R E
ord

=

=)

AR

2H l_-H

X

+

=
308 A+XI A

(o]
=

I

ol

X0
K
<l
=)
a0
0J
3D
<J

)

=
[

2|

AMESIIS X

IFHE X

307 clztol &

A
Al

A11,910
53,000

58,910
20,000
20,000
27,000
27,000

287,000

47,000
20,000
20,000
20,000
20,000
27,000
27,000
27,000

340,000

2|

=

(=)

tel i

e}

C10IcH & EFOFIHEIDIAFS X

01 ALS
307 glztol ™




A= gl SN S =E MY
M B S ERF (WS S/0EI =)
&S =20l EXY (=& J)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 260,000 207,000 53,000
01 At 22l 260,000 207,000 53,000
Oget=2tl 260,000
OZ=g¥XZMsd 260,000
307 gl2tol & 80,000 80,000 0
04 DIZHHALALSE E X 80,000 80,000 0
OFRZ=E2S2HUIMIISUHSEA 80,000
SPotarar et e 2 MU0 CH & O 30,000 60,000 A 30,000
308 XAHXIEHHSOIA 30,000 60,000 /30,000
01 HIXNHHBNEES 30,000 60,000 A 30,000
Ofsta o nstE 2 MHOIEUE 30,000
OS2 EAAMATR(ZIEE ) 45,000 45,000 0
308 XXM SOl A 45,000 45,000 0
01 AXHHBISEES 45,000 45,000 0
L& N2 ottt ALY 30,000
&= Maker & & CH & ALY 15,000
BILE2tsr2 X & (2 &) 1,294,000 1,416,000 A 122,000
= 1,294,000
308 XX EHHSOIA 1,294,000 1,416,000 A 122,000
= 1,294,000
01 HIXNHHNBMNEES 1,294,000 1,416,000 A 122,000
OBTLE 2 ut&t 2 X2 (8 &) 1,294,000
= 1,294,000
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308 A EHHSOIA 90,000 90,000 0
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ME NS DAAMLXA(SIHEEHIH) 80,000 80,000 0
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02 It M AHEE 80,000 80,000 0
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40 5 4

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
01 AIXHMBAEXZ 90,000 30,000 60,000
OwWs&Ust s8I 3 A 90,000
SWES| QI TH ) = X| & 300,000 300,000 0
307 212t0| & 300,000 300,000 0
02 DI2HZAAIEE X 300,000 300,000 0
CISWEH2l ol = K| & A 300,000
NGBS RLHMB NS AL EIRE (2R E X 200,000 300,000 A 100,000
2)
308 AXISHMSOIHA 200,000 300,000 A 100,000
01 AIXHMBAEEXZ 200,000 300,000 A 100,000
OSSN RENMS NS AL EBIRAS 200,000
ZEXNGISHHAMASHAIY (2R FH X E) 300,000 300,000 0
308 XX SHHSO0IA 300,000 300,000 0
01 AIXHMBAEXZ 300,000 300,000 0
OZ=XNEIEtH LML S HALS 300,000
SGAIEYHAEH ERE (2IHAF ) 690,000 0 690,000
308 XX S M SO0l & 690,000 0 690,000
01 "X HMBAEXZ 690,000 0 690,000
CO5GAIE SLHIAEH ERS 690,000
SWABI AN AL (2OHAE X ) 344,000 0 344,000
308 AXISHXSOoIHA 344,000 0 344,000
01 AIXHMBAEXZ 344,000 0 344,000
COSWA Bl A AN 344,000
FAHAKERSEAMAL (ZIEEHIH) 1,142,000 0 1,142,000
308 AXISHAMSOIH 1,142,000 0 1,142,000
10 SISO USHE AN E A Y 1,142,000 0 1,142,000
OXAHCHEHEICI2IAIOI 28 A M AR ST 1,142,000
HHAREFRSIA 2,752,000 0 2,752,000
403 ItXISH A S K201 2,752,000 0 2,752,000
01 X SHMA2E X 2,752,000 0 2,752,000
OXMICHEHE 2I2IAIOI 28 R M AR SR A S A& H
golmelR=E 2,752,000
SGHA S ELESS MBI ML (2 EX ) 250,000 0 250,000
308 XX SHAMSOIA 250,000 0 250,000
01 AIXHMBAEXZ 250,000 0 250,000
O5HAM LS MBS 250,000
AECESEMSAEI =S 200,000 0 200,000
308 XX SHHSOIA 200,000 0 200,000
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N = 0 &8 AFH Y & A AN
20209 & =20l & LS H M A
A= AT EMAEA SAM AN EAH D
M MIHANMMEIHEZLE (MIAEX/=S)

Sl NS HAMEBLSNE (25 & @)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
ALE & E Al B 39,632,458 24,936,348 14,696,110

2 9,633,993
= 17,356,028
< 12,642,437
AMSIEHAHMENHZL (MBI =2X/S) 39,540,118 24,884,917 14,655,201
= 9,633,993
s 17,356,028
T 12,550,097
AN EHEHESE XA 16,088,642 7,288,285 8,800,357
= 7,395,421
= 8,693,221
A EHZBHE 115,800 116,825 A 1,025
201 LEt2 A Y| 111,000 99,525 11,475
01 AFR2t2ldl 111,000 99,525 11,475
Oget=sH| 9,000
OMIEINMNEXRIRE NS HEZ RO 9,000
Oegs¢ 12,000
OMIEIMAAS LG 12,000
OArI B3 M- st=& 90,000
203 PR =&Y| 4,800 4,800 0
03 A=A SR =AH| 4,800 4,800 0
OAS EEMELESIHRFEXN 4,800
AMSHBMAJEHHEE2H 600,000 700,000 A 100,000
307 QI2t0| & 600,000 700,000 A 100,000
05 A2t E = 600,000 700,000 A 100,000
OMSEAMXJLAEHSS 600,000
MNIEZIHEY 3,550,000 1,230,000 2,320,000
307 QI2t01 ™ 3,000,000 1,130,000 1,870,000
02 Q2B AMAIEE =X 2,900,000 1,000,000 1,900,000
OJZ=a A dIMFASHLSU2Y 200,000
OMSEIMHISEHIHH AL USIALY 100,000
OArS & M 22 X & A 300,000
OAMSEZHIIE10-102 8 =4 200,000
OAMSIEBNHAAMESY 200,000
OA8HXLIA0H2HH O] 50,000
Os3J|228 2043t 50,000
OZ=gALEEZ2SHSAE 500,000
OAMSIEBNUAIS LM SAY 500,000
OZ=a At B Z M A H SHAFS 500,000
OBM=ZAMSIEZHOH LSS 300,000
04 QI2SHALAIE B = 100,000 130,000 A 30,000
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DA EHINEYE A

M ox
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- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OArE & MO al oK = 100,000
308 XAHXIGHHM SO0l & 50,000 50,000 0
01 IXHHIMNEXTZ 50,000 50,000 0
OASEEHESEAIZSIDNESA 50,000
402 BI2H X 20| M 500,000 0 500,000
01 It EANSEXZ (MM A) 500,000 0 500,000
JA&HH Y E ST 500,000
SSITEEHSNA 330,000 250,000 80,000
307 2iz2to| & 330,000 250,000 80,000
02 QIZ2IA AAIE E X 250,000 150,000 100,000
OEsSI NS 250,000
04 CIZ2tSHALALS B X 80,000 100,000 A 20,000
X =SHAIS & A M CH & 80,000
A E B M EE L X 1,410,842 773,000 637,842
= 705,421
o= 705,421
307 2Iz2t0| & 1,410,842 773,000 637,842
= 705,421
o= 705,421
02 DI AAIE E X 1,410,842 773,000 637,842
OX=gANIEZHEE L Xte 1,410,842
= 705,421
& 705,421
AN EHABAMBALIE (AlZ) 9,642,000 2,921,460 6,720,540
= 6,690,000
= 2,952,000
308 XAHXIGH SO0l & 9,642,000 2,921,460 6,720,540
= 6,690,000
= 2,952,000
01 AIKISHENEXZ 9,642,000 2,921,460 6,720,540
OZ=a MBI HEE LRt 9,642,000
= 6,690,000
= 2,952,000
CI2AS 20t EEHARAS AR K (2R EH X 50,000 100,000 A 50,000
o)
307 2iz2to| A 50,000 0 50,000
02 QIZ2HAAAIE E X 50,000 0 50,000
O 2AIS 20tHSFEEARAST= AR ALS 50,000
HRULEHZEUASSESH(Z2IIEERH) 71,000 397,000 A 326,000
308 XAXISHHM SO0l & 71,000 397,000 A 326,000
10 B 2SHUSE AN E AIS Y| 71,000 397,000 A 326,000
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OHARUEHIZUASESXE ALY 71,000
AMIHBHMEULSF (S HEAZT ) 319,000 0 319,000
307 glz2tol & 319,000 0 319,000
02 QIZtE M AHE X 319,000 0 319,000
OMIHBREANLE 319,000
ASIH D s 23t 15,570,530 12,663,720 2,906,810
= 2,210,760
s 11,800,000
= 1,559,770
M EIHESH XA 17,000 580,400 A 563,400
201 et 17,000 34,700 A 17,700
01 At 22l 17,000 34,700 A17,700
Opt=2Hl 5,000
OAMSIHII A LAAMNSLEHIL3ARNEFQ 5,000
O2g+¢ 12,000
OAslZH)I s dAJ e FA&+H 12,000
MBI XD E AL 200,000 140,000 60,000
= 140,100
< 59,900
307 glz2tol & 200,000 140,000 60,000
= 140,100
= 59,900
02 It M AHEE 200,000 140,000 60,000
OASEI SR DS3HAS 200,000
= 140,100
< 59,900
AN EI| S AL O HI X & A 1,445,700 1,903,900 A 458,200
= 1,281,000
< 164,700
308 XtXIEHHSOIA 1,445,700 1,903,900 A 458,200
= 1,281,000
< 164,700
01 AXHHILEES 1,445,700 1,903,900 A 458,200
CIARSI E D1 S AFE OH 2 HI XT3 A 1,445,700
= 1,281,000
< 164,700
AR EI S LRl EE ALY 12,262,800 8,759,000 3,503,800
s 11,148,000
< 1,114,800
308 X EHHSOIA 12,262,800 8,759,000 3,503,800
s 11,148,000
< 1,114,800
01 HIXNHHNBMNEES 12,262,800 8,759,000 3,503,800
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Sh=

DA ED g s d 2 e

A SN ABEAR Y

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

OME)IGSLNCZHEMNS(ZEFTY) 12,262,800
s 11,148,000
< 1,114,800

A I HASI EE 2 X & ALY 717,200 516,800 200,400
s 652,000
= 65,200

308 XXM SOIA 717,200 516,800 200,400
s 652,000
< 65,200

01 X HHBILEES 717,200 516,800 200,400
OMSIEIISASIEESZXNAMNS (RSESY) 717,200
s 652,000
< 65,200

AN SEHES XA 377,200 255,400 121,800
= 301,760
< 75,440

307 21201 A 377,200 255,400 121,800
= 301,760
< 75,440

02 It S AIHE L 377,200 0 377,200
OANSSHESXEAMSY 377,200
= 301,760
< 75,440

ASIHI LRSS SHALS (Al ) 550,630 388,220 162,410
= 487,900
< 62,730

308 XXM SO0 A 550,630 388,220 162,410
= 487,900
< 62,730

01 IXNHHBHNEES 550,630 388,220 162,410
OAS I XSS SHALS (Al ) 550,630
= 487,900
< 62,730

NAZsHEds=a 7,667,134 4,733,300 2,933,834
s 5,556,028
< 2,111,106

OrESJIg 845X & 20,000 27,200 AT7,200

201 et 20,000 20,000 0

01 At 22l 20,000 20,000 0
Opt=2Hl 10,000
Obt2JIgdAsizRa 10,000
O2g+¢ 10,000
OltSIIZEEAMRARY S A= 10,000

OISlgsSgaMg(usALERH) 556,000 340,000 216,000




A= gl M ASIE Z
H: MIMIHMUHAZE (MIEX/S)
S NHBSHELSE CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
e 278,000
= 278,000
307 glz2tol & 556,000 340,000 216,000
s 278,000
= 278,000
05 RIZtE = 556,000 340,000 216,000
OosligsdMd (LX) (2SS Y) 556,000
s 278,000
< 278,000
OISOl S &AL 747,500 617,500 130,000
s 575,000
< 172,500
308 XtXIEHH SOl A 747,500 617,500 130,000
s 575,000
< 172,500
01 X HHILEES 747,500 617,500 130,000
OosligsdAd(Z2SEY) 747,500
s 575,000
< 172,500
NESSH LA AL 5,643,634 3,003,600 2,640,034
s 4,703,028
< 940,606
308 A EHHSOIA 5,643,634 3,003,600 2,640,034
s 4,703,028
< 940,606
01 HXNHHNBHEES 5,643,634 3,003,600 2,640,034
OXNGISsHLReIMS (RSESY) 5,643,634
s 4,703,028
< 940,606
3322 M 700,000 700,000 0
308 XXM SO0 A 700,000 700,000 0
01 IXNHHBNEES 700,000 700,000 0
0332 2AY 700,000
AHIXNZHESSAA 213,812 199,612 14,200
= 27,812
< 186,000
N AAASE A 53,200 61,000 A7,800
307 21201 A 53,200 61,000 A7,800
02 HAFAAHEX 30,200 38,000 A7,800
OAHIN20IE 22 ALS 15,000
OAHEHENMEN ZALALS 7,200
O3S HSSHAHNELHZSE 8,000
04 DIZHHALALSE E X 23,000 23,000 0
D32 AHIX2A L F2HH AL 23,000
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